
 

Forecasting 

When it comes to developing a forecast, it’s important to understand that there is a qualitative piece 

as well as a quantitative piece. The quantitative aspect will focus on taking historical data from the 

prior year in order to estimate how much you might sell in the upcoming round. The qualitative aspect 

will focus on thinking about how your product has changed from the prior year. While the qualitative 

aspect will have to be estimated, there are two recommended forecasting methods for the 

quantitative aspect: the basic forecasting method and the December customer survey score method. 

Below, are how one might go about implementing both methods for the product Able. 
1. The Basic Forecasting Method 

First, you’ll want to determine the total number of units that will be sold to the segment. To do this, 

we will use the following equation using numbers from Exhibit 1. 

9.2%, expressed as a decimal point = 0.092 

10,504 * (1 + 0.092) 

10,504 * (1.092) 

10,504 * (1.092) = 11,470 

Secondly, you’ll want to factor in how much market share your product will take from the upcoming 

demand. You will want to look at the product’s potential market share. You can find this number in 

Exhibit 2. 

10.4%, expressed as a decimal = 0.104 

11,470 * 0.104  = 1,193. 

1,193 → This would serve as your base forecast assuming that your product is meeting the 

customer buying criteria just as well as it was in the prior round.  

 

2. The December Customer Survey Score Method 

First, you’ll want to determine the total number of units that will be sold to the segment. To do this, 

we will use the following equation using numbers from Exhibit 1. 

10,504 * (1 + 0.092) 

10,504 * 1.092  

10,504 * 1.092 = 11,470 



Secondly, you’ll want to factor in how much market share your product will take from the upcoming 

demand. In order to estimate this number, you will look at your December survey score as a 

proportion to each of the survey scores in that market. You can find this information in Exhibit 3. 

30 + 23 + 22 + 49+ 47 + 30 + 32 + 3 + 32 + 0 + 1 = 269 

30 / 269 = 0.1115 or ~11%. 

11% expressed as a decimal = 0.11 

11,470 * 0.11 = 1,262 

1,262 → This would serve as your base forecast assuming that your product is meeting the 

customer buying criteria just as well as it was in the prior round. 

 

Here are some forecasting best practices: 

• Again, keeping in mind how your product is changing from one year to the next. 

 

• Try implementing a best case and worst case scenario. In this instance, you may choose to 

produce a little bit more in order to avoid a stock out. It is common to take 90% of your base 

forecast to enter in Marketing while making sure 120% is available through production. 

(factoring in any inventory on hand) 

 

• Think about how your competitors may be changing their products. 

 

• Check out our forecasting webinar here. 

 

  

https://www.youtube.com/watch?v=jau-W9LEVc0&list=PLuOs5I8O6S7x12Y71-QxjiSYqbCACPJoi&index=7&t=1s
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